COMPOUND FUNCTIONS

Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier
1.

19 fand g are fimctions such that

¥

fixh= = and glxy=3HIx+1)

T
WX

(z) Find 2(5)

() Find gf(%)

(c) Find 27(8)

(Total for Question 19 s 5 marks)

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier
2.



21 The fumctions fand g are such that
firi=3r—1 and gixvi=x*+4

{a) Find £-x)

=) =

Giiven that fgix) = 2zfix),

(b} show that 13x* = 12r =1 =0

{Total for Question 11 is T marks)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

3.



1% For all walues of x
fixy=(x+1¥ and gx)=2x-1)

{a) Show that gfix) = 2nix + 2)

(B} Find g='(7T)

(Total for Question 19 is 4 marks)

Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier

4,



10 fix) = 4sinx®

(a) Find 23}
Giive your answer correct to 3 significant figures.

giv)=2r-3

by Find fii34)
Giive your answer correct to 3 significant figures.

hix)=(x +4F
Ivan needs 1o solve the following equation hix) =25
He writes

(x+ 4P =23
rt+4=35
x=]

This is noi fully correct.

(c) Explain why.

{ Total for Question 10 ks 4 marks)

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier
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11 fand g are functions such that

|t

fix)= and  gix)=4°

w

=]

(a) Find fi=5)

(b) Find fa(1)

(Total for Question 11 is 3 marks)

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier
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1} The functions {and g are such thar
fix)=%r+3 pgxj=ar+d where aand b are constants.
g3 =20 and f'{33)=gl)

Find the value of a and the value of &

a=

b=

{ Total for Question 22 is 5 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier
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9 The finctions f and g are such that
fx)=3xr—-4) amd gix)=

{a) Find the value of £{10)

{(b) Find g7'(x)

{c) Show that ff{x) =9 — 48

| =

+ 1

(Total for Question # is 5 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier
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18 fix) =3 -2 —K

Express fix + 2) in the form ax® + b

{Todal for Question 18 is 3 marks)

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

9.

10 The fimcton £ 15 such that

fx)=4x-1
(a) Fnd £'(x)
i) = -
2
The fimetion g is such that
glx) = ka* where k15 a constant.
Given that fg(2) =12
(b} work out the value of &
k= -
(=)
(Total for Question 10 iz 4 marks)

10.



